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OUEOI=0IAIE HIIANEEA =22
3,500,000& 3,500
02 ZE=23Hl 82,000 81,900 100
OZ2ANeE=2 RNE+ E82= 70,000,000 70,000
OZ22% U 0I=0IAE Eolitha SH It
12,000,000& 12,000
206 M=l 40,000 50,000 A 10,000
01 MHZ bl 40,000 50,000 210,000
O32A4 228 M7 40,000, 000& 40,000
401 A EHIL 204 1,188,000 889,800 298,200
01 Al&HI 1,180,000 880,000 300,000
SHAEE ALY 400,000,000& 400,000
ONHel0l=0IAl4 WX 780,000,000& 780,000
03 Al 20HY| 8,000 9,800 A 1,800
O=&z2c HHl gxz 5,000, 000& 5,000
OZAANEE EHIAS 3,000, 000& 3,000
SHESZ A 407,000 477,000 270,000
401 A EHIL 2048 402,000 403,000 A 1,000
01 Al&H| 400,000 400,000 0
022 L =X AU L HEM 4%
200,000,000& 200,000
OZHYST +24 L ZEE 2
200,000, 000& 200,000
03 Al =R0HHl 2,000 3,000 A 1,000
O&cl2el & =34 2,000,000& 2,000
405 XtotE SHI 5,000 44,000 239,000
01 T =S FH SHI 5,000 44,000 A 39,000
O3 E sgIIHSS +& 5,000,000 5,000
SANsE =4 & 2e 810,580 673,904 136,676
2o T A &4 810,580 673,904 136,676
101 el 202,500 204,000 A 1,500
04 JI2tHIZ2E2ENEE S 202,500 204,000 A 1,500
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SN SY=X
Ha: CAZRE JUEA
oSl CAE XA Y B (B9 &2
_ _ MNuE o
A -3 -H2A(SH) - HEAMY - BES O AF K Ol AF o8 Hlws2
OBOITAl ZHAY oI=el  202,500,0002 202,500
206 T2l 256,000 353,686 A97,686
01 M=l 256,000 353,686 A97,686
OUPHANY(ZABNE S)
6002 *30, 000 18,000
OBOICAZHAY %317 L AHW2Y
130,000,00024 130,000
OB BHIKIA 22 90,0002 *600m*23] 108,000
401 AIEHILL ] 348,080 110,218 237,862
01 Al 314,400 90, 154 204,246
O=TAISS X4 2 FHIAFR  200,000,0002! 200,000
OBEE 2 2 AT 7,200,008 %23 %174 A 14,400
OzUE Stn8X MO X4
100,000,0002 100,000
03 Al&=CHHl 33,680 20,064 13,616
OBOITAIZHAS =Yl UXE 31,680,000 31,680
O=TAISS X4 2 HHIAIRZ  1,000,0002 1,000
OsUE stReX OZE X4 1,000,0002 1,000
405 XH&HE S 4,000 4,000 0
01 Kol 223 S| 4,000 4,000 0
OIS 2 400,0002 *10CH 4,000
HHSAAY (S =X D) 67,990 68,590 AB00
2 A (5=t 67,990 68,590 AB00
A (S =R 67,990 68,590 AB00
201 Y2 Y| 18,630 18,630 0
01 AtR22/Hl 18,630 18,630 0
S22 A2zl 18,630, 0002 8,630
202 01| 44,160 44,160 0
01 2L 0dHl 44,160 44,160 0
012248018 (23%) 44,160,0002 44,160
203 R EY| 4,200 4,200 0
04 EASLAREAY| 4,200 4,200 0
ORN2SY L= 1| (30210/5)
350,0002 122 4,200
405 RHAHE S| 1,000 1,600 AB00
01 XHatUSEH S| 1,000 1,600 AB00
OUXNEIH T (BATHY BRA22)
500,0002 x2CH 1,000

_29_




